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: : 1. Complete the following times table grid: : : 4. 2x4x10= 1 mark
o . o .
- x 6 12 -
.o 2 12 .o 5. 4x10x3=
. o e 1 mark
. o .
. 3 36 27 ¢
- 4 -
o . o . 6. Use the bar model to work out the value of a.
o . o .
.« . .« .
. 2 marks o . 900
- - a a a
: : 2. Jonny shares 72 treats amongst 8 people. : :
o . o .
. How many treats do they each receive? « . a=
. o .
. o 1 mark
° 1 mark °
o . o .
o . o .
o . o .
. . . . 7. True or false?
L 3. Insert >, < or = to make the statements correct. c . 30 x 8 is the same as 80 x 3.
o . o .
o . o .
o . o .
.« 5x4 Q 2x10 o e Explain how you know.
. 7x8 O 9x11 ..
. o .
. o .
.« . .« .
L 12x3 7x7 L
o 2 marks o
o . o .
: : : : 2 marks




